|CSC161 2011S Imper ative Problem Solving

Assignment 5: Writing Linux Utilities

Assigned: Friday, 25 February 2011
Due: 11:00 p.m., Wednesday, 2 March 2011

Summary: In this assignment, you will build avariety of ssmple Linux utilities.

Purposes: To give you more experience with conditionalsin C. To further ground your understanding of
binary search. To remind you of the power of the Unix model.

Expected Time: Threeto four hours.

Coallaboration: | encourage you to work in groups of two or three students. However, you may work on
your own or in groups of up to size four. Y ou may discuss the assignment with anyone you wish, provided
you clearly document such discussions.

Submitting: Submit tarballs of your solutions on Pioneerweb.

Warning: So that this assignment is a learning experience for everyone, | may spend class time publicly
critiquing your work.

Assignment

Problem 1: Sums

Recently, you wrote a program that printed all of the numbers read from standard input. Here' s avariant of
that program that prints all of the integers read from standard input.

/**

* ints - extract all the integers fromstandard input and print them
* one per line.

*/
/] +---ee---- o m m e e e e e e e e e e e e e e e e e e e e e e e e e e e e e mmmmmmeaa—n
/'l | Headers |
A +
#i ncl ude <stdio. h> /1 For printf, getchar, and putchar
#i ncl ude <ctype. h> /1 For isdigit
/] +------- o m m e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e memeaa—o-
Il | Types |
A +
/**

* The states of our program W can either be inside our outside
* of a nunber.


http://www.cs.grinnell.edu/~rebelsky/Courses/CSC161/2011S/

*/

enumstate { IN, OUT };

int sign 0;
enum state state

QUT,;

/1 An input character
/1 The sign, if there
/1 The state of input;

/1 Repeatedly read and process characters

while ((ch = getchar ()) != EOF)
{
/'l Is it adigit? If so, print it out and note
/1 in a nunber.
if (isdigit (ch))
{
/1 Print out the sign, if one is waiting
iLf (sign)
{
put char (sign);
sign = 0;
}
/1 Print it out
putchar (ch);
/1 And note that we're in a nunber.
state = IN
Y} /1 if isdigit(ch)
/1 1s it a plus or minus sign? If so, remenber
else if ((ch =="+) []| (ch =="-"))
sign = ch;
/Il OGherwise, it's neither a digit or a sign.
/1 nunber, we should print a newine.
else if (state == IN)
{
putchar ('\n’);
state = QUT;
sign = 0;
} /1 leaving a nunber
/1 1t’s not a digit or a sign, and we’'re not in

/1 any signs that are set.

el se
sign
} /1 while

0;

/1 And we’'re done
return O;
} /'l main
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Write a program, sum that reads integers from standard input and computes the sum of those integers.

For example,

cat nums | ./sum

As you might guess, we can use i nt s in conjunction with sumto extract al the integers from afile and
then sum them.

$ cat grades

Joe: Smi t h: HWA: 10

Joe: Smi t h: HW\B: 8

Joe: Smith: HW\C:. 7

Joe: Smith: HAD: - 1: Penal i zed for ...
$ cat grades | ./ints | ./sum

24

Problem 2: Selecting Numbers

Write a program, sel ect , that takes two command-line parameters. an binary operator and an integer,
and that reads numbers froms standard input and selects (prints out) those of the numbers for which the
result of applying the binary operator to the value gives a nonzero resullt.

For example,

® . /select > 5 -printsoutthe numbersfrom standard input that are greater than 5

® . /select == 3 - prints out the numbers from standard input that are equa to 3. (Okay, that’s
somewhat silly, but it can be helpful.)

® . /select & 2 -printsoutthe numbersfrom standard input that have their two’s bit set.

Y ou should support the operators <=, <, ==, =, >,>=| , & and .

Since < and > are used for redirection, you'll need to put them in quotation marks when you use them on
the command line.

Problem 3: Counting Numbers

Suppose the file gr ades. t xt contains grades in the form given above. Write a command that counts
how many grades are in the range 50-80.



Problem 4. Improving Binary Search

Consider the following program that extends K& R’ s binary search.

/**

* pinsearch X VO V1 ... VN

* Search for X in [VO,V1,V2,...,VN

*

* Based on exanple on p. 58 of K&R 2nd edition.

*

* Disclaimer: This program does not do significant error checking.

*/

1 - S e
/1 | Headers |

R L +

#i ncl ude <stdio. h> /1 For printf

#i ncl ude <stdlib. h> /1 For atoi

J] 4ecccecaaaaa T T e
/1 | Constants |

J] 4ecccecaaaaa +

/**

* Are we testing our program which neans we want extra output?
*/
#define TESTING O

J] 4ecccecaaaaa T T e
[ | Wilities |

J] 4ecccecaaaaa +

/**

* binsearch (x, v[], n)
* Find the index of x in the sorted array v of size n.
* Return -1 if the value is not found.

binsearch (int x, int v[], int n)
{

int |ow /1 The | ow end of the part we’'re searching
int high; /1 The high end of the part we’'re searching
int md; /1 Tee middle of the part we’'re searching

/1 Initially, we want to search the whole array
|l ow = 0;
high = n - 1;

/1 Continue searching parts of the array until we find the
/1 element (return in the niddle) or we run out of elenents
/1 to look at.
while (| ow <= high)

{



md = (Il owthigh) / 2; /1 Potential bug, but ok for now
if (TESTING
{
printf ("x =%, low= %, nmd = %, high = %l\n",
X, low, md, high);

/1 Does x belong in the left half?
if (x < v[md])
high = md - 1;
/1 Does x belong in the right half?
else if (x >v[nmd])
low = md + 1,
/1l Otherwise, x is v[md]
el se
return md;
} /1 while (l1ow <= high)

/1 Since we’'ve |ooked at the whole array, the value isn't there.
return -1,
} I/ binsearch

/-k*

* | ooks_like_int(str)

* Determine if the string |ooks |ike an integer.
*/

int

| ooks_like_int (char *str)

{
int i =0,
/1 Skip over |eading sign.
if ((str[0] =="'+) || (str[0] =="-"))

++i

/'l Consider remaining characters.

while (str[i] !'="\0")
{
if (! isdigit (str[il]))
return 0;
++i
Y} /1 while
/1 W' ve read through all the characters. |t nust be an integer.
return 1;

} /1 looks_like_int

/-k*

* print_vector(v, n)

* Print a vector of ints
*/

oid

print_vector (int v[], int n)
{

<

int i; /1 A counter variable. Wat else?
printf ("{");
if (n>0)

{



printf ("%l", v[O0]);
for (i =1; i < n; i++)
printf (",%l", v[i]);
Y 11 if (n > 0)
printf ("}");
} I/ print_vector

/] +------ o o s o o o o D m e o o m e mm o e o e o s oM s e e oo s e a s cm e oo mmcamco-----
/1 | Main
I+ +
int
main (int argc, char *argv[])
{
int x; /1 The value we’'re searching for
int n = argc-2; /1l The size of the vector we're searching
int v[n]; /1 The vector to search
int i; /1 Everyone's favorite counter variable
int index; // The index of x in v.
/1 Sanity check
if (arge < 2)
{
printf ("Usage: % X VO V1 ... VN-1\n", argv[0]);
return -1,
}
/1l Gab x

if (! looks_like_int (argv[1]))

printf ("Invalid X. Gven %, expected an integer.\n", argv[1]);

return 1;

}
X = atoi (argv[1])

/1 Build v
for (i =2; i < argc; i++)
{
if (! looks_like_int (argv[i]))
{
printf ("lInvalid V[%l]. G ven %, expected an integer.\n"
i-2, argv[i]);
return i
}
v[i-2] = atoi (argv[i]);
Yy Il for

/1 Find the index of x
i ndex = binsearch (x, v, n);

/1 Print the result
if (index == -1)
{
printf ("Could not find % in the vector ", Xx);
print_vector (v, n);
printf ("\n");



Yy /1 if not found
el se

—~

printf ("The index of %l in the vector ", X);
print_vector (v, n);
printf (" is %.\n", index);

}y /1 if found

/1 And we're done
return O;
} /'l main

Rewrite the bi nsear ch function so that it does one test inside the loop instead of two.

Problem 5: Searching Strings

Consider the following program fragment:

char *tlas[] = {
"G\U',
"1 BM',
"LaL",
" SAD",
" SAM',
"TLA"

char *defns[] = {
"GNU s Not Unix",
"I nternati onal Business NMachi nes",
"Laugh CQut Loud",
"Seasonal Affective Disorder",
"Sam s Amazi ng Mastery",
"Three-Letter Acronynt

H
Asyou can tell, theith element of def ns contains a definition for theith element of t | as.

Write a program, t | a, that takes a three letter acronym from the command line and prints out its
expansion. For example,

$tla | BM

IBMis International Business Machi nes.
$ tla FOO

Sorry, FQOO is undefined.

Your strategy is simple: Use binary search to determine the position of thetlain t | as and then print out
the corresponding element of def ns.

You'll need to modify bi nsear ch to dea with strings. You'll find the st rcnp procedure useful.
strcnp (str0O, strl) returns



® anegative number, if strO alphabetically precedes stri;
® apositive number, if strO alphabetically follows stri;
® zero, otherwise.

Submitting Your Homewor k
Using scri pt, build logs of sample runs of your programs.

Put those logs, your source code, and any other files you deem appropriate in a directory called
user nanmes. hwb.

Make atarball of that directory.

Submit the tarball on Pioneerweb under the Assignment 5 link.
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